
Module 14 – Area and Perimeter
Level 2 Functional Skills Maths Self Quizzing Questions

Sunny is required to make the shape below out of metal bar. The shape is made up of a 
square of side length 20cm, and 4 identical semicircles, each with the same diameter that is 
equal to the side length of the square. Each semicircle has 3 bars that go from the centre to 
the edge of the semicircle. Find the total amount of length of metal bar required to make this 
shape.

6.5cm

3.5cm

Find the area of the blue ring.

6.5cm

4cm

8cm

4cm
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Find the area of this 
right-angle triangle

𝐴𝑟𝑒𝑎 =
4 × 6.5

2
= 13

𝑨𝒓𝒆𝒂 = 𝟏𝟑 𝒄𝒎𝟐

Find the area of this shape

 𝑨𝒓𝒆𝒂 = 𝟕𝟑 𝒄𝒎𝟐

4𝑐𝑚

12𝑐𝑚

9𝑐𝑚

5𝑐𝑚

4𝑐𝑚

12𝑐𝑚

9𝑐𝑚

5𝑐𝑚

Split the shape into rectangles.

7𝑐𝑚

5 × 9 = 45

7 × 4 = 28

28 + 45 = 73

Find the area of this  
triangle.

𝐴𝑟𝑒𝑎 =
4 × 8

2
= 16

𝑨𝒓𝒆𝒂 = 𝟏𝟔 𝒄𝒎𝟐

20 × 4 = 80

Use 𝜋 = 3.14

Circumference of a semicircle = 2𝜋𝑟 ÷ 2

= 2 × 𝜋 × 10 ÷ 2 = 31.4

31.4 × 4 = 125.6

12 bars that are each 10cm long = 12 × 00 = 120

120 + 80 + 125.6 = 325.6

𝟑𝟐𝟓. 𝟔 𝒄𝒎 of metal bar

Area of a circle = 𝜋𝑟ଶ

132.665 − 38.465 = 94.2

= 3.14 × 𝑟 × 𝑟

Big Circle = 3.14 × 6.5 × 6.5 = 132.665

Use 𝝅 = 𝟑. 𝟏𝟒

Small Circle = 3.14 × 3.5 × 3.5 = 38.465

𝑨𝒓𝒆𝒂 𝒐𝒇 𝑩𝒍𝒖𝒆 𝑹𝒊𝒏𝒈 = 𝟗𝟒. 𝟐 𝒄𝒎𝟐


